
TE600−7A_1

log ∆L  luminance difference
threshold Lg=630cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

data & P−A3−fit
PO 0,1s B
3 repeats

A1    A2    A3      ∆
0.017 1.122 1.488 0.002



TE600−7A_2

log ∆L  luminance difference
threshold Lg=63cd/m2
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0,34 0,40
0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

data & P−A3−fit
PO 0,1s B
3 repeats

A1    A2    A3      ∆
0.078 0.976 0.184 0.004



TE600−7A_3

log ∆L  luminance difference
threshold Lg=6,3cd/m2
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0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

data & P−A3−fit
PO 0,1s B
3 repeats

A1    A2    A3      ∆
0.091 1.125 0.032 0.007



TE600−7A_4

log L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

data & P−A3−fit
PO 0,1s B
3 repeats

A1    A2    A3      ∆
0.017 1.122 1.488 0.002



TE600−7A_5

log L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

data & P−A3−fit
PO 0,1s B
3 repeats

A1    A2    A3      ∆
0.078 0.976 0.184 0.004



TE600−7A_6

log L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

data & P−A3−fit
PO 0,1s B
3 repeats

A1    A2    A3      ∆
0.091 1.125 0.032 0.007



TE600−7A_7

L/∆L  luminance contrast
sensitivity threshold Lg=630cd/m2
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0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

data & P−A3−fit
PO 0,1s B
3 repeats

A1    A2    A3      ∆
0.017 1.122 1.488 0.002



TE600−7A_8

L/∆L  luminance contrast
sensitivity threshold Lg=63cd/m2
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0,15 0,19
0,58 0,32
0,25 0,44

F=A3+A1*L A2

data & P−A3−fit
PO 0,1s B
3 repeats

A1    A2    A3      ∆
0.078 0.976 0.184 0.004



TE600−7A_9

L/∆L  luminance contrast
sensitivity threshold Lg=6,3cd/m2
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0,58 0,32
0,25 0,44

F=A3+A1*L A2

data & P−A3−fit
PO 0,1s B
3 repeats

A1    A2    A3      ∆
0.091 1.125 0.032 0.007


